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QUESTION 1

How would Cisco ISE handle authentication for your printer that does not have a supplicant? 

A. ISE would not authenticate the printer as printers are not subject to ISE authentication. 

B. ISE would authenticate the printer using 802.1X authentication. 

C. ISE would authenticate the printer using MAB. 

D. ISE would authenticate the printer using web authentication. 

E. ISE would authenticate the printer using MAC RADIUS authentication. 

Correct Answer: C 

 

QUESTION 2

What statement is true regarding the current time in Enterprise Networking history? 

A. advent of cloud computing 

B. pace of change 

C. pervasive use of mobile devices 

D. advent of IoT 

Correct Answer: B 

 

QUESTION 3

Which two statements are true regarding Cisco ISE? (Choose two.) 

A. It distributed deployments, failover from primary to secondary Policy Administration Nodes happens automatically. 

B. The number of logs that ISE can retain is determined by your disk space. 

C. ISE supports IPv6 downloadable ACLs. 

D. ISE can detected endpoints whose addresses have been translated via NAT. 

E. ISE supports up to 100 Policy Services Nodes. 

F. In two-nodes standalone ISE deployments, failover must be done manually. 

Correct Answer: AB 

 

QUESTION 4
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Which two Cisco ISE use cases typically involve the highest level of implementation complexity? (Choose two.) 

A. Guest and wireless access 

B. Software-defined access 

C. Device management 

D. Asset visibility 

E. Software-defined segmentation 

Correct Answer: BE 

 

QUESTION 5

What are the three foundational elements required for the new operational paradigm? (Choose three.) 

A. centralization 

B. assurance 

C. application QoS 

D. multiple technologies at multiple OSI layers 

E. policy-based automated provisioning of network 

F. fabric 

Correct Answer: BEF 
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